N & o & AF & H Al A
20148 5 =S0la LesH 22024
FN: 22024
M QA MUN S5 (L3S /Lot )
el AIEESR (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
220|122 3,814,886 3,464,674 350,212
= 15,515
< 50,544
Al 3,748,827
FTRANH MEAXN S5 (LS IHF/ABEHFT) 1,029,397 934,509 94,888
NEEE 1,029,397 934,509 94,888
NEER 1,029,397 934,509 94,888
201 Let24d] 916,897 844,809 72,088
01 At 22l 859,480 789,480 70,000
O&EUME 152 12,000& = 1208 » 128 17,280
OAE g2t 300,000& * 803l 24,000
OANHE I8 22l 15,400
—&0a=za 2¢ 100,000& * 404 4,000
— HOVHI Ol = (6mm) = 25,0003 = 80 2,000
—0VW ¥ CD #¢ 2,500& = 4004 1,000
— AR Qe = 700,000& = 123 8,400
O3 w2k 7 12,800
—XNXHEEH 1185 6,0008 = 1508 » 128 10,800
— JIEt 1,000,000& * 23] 2,000
FRANEZFEE Z20(TV, cttl)
350,000,000 * 14l 350,000
OFQANEERE 212, X 8)
250,000,000 * 14l 250,000
OF2 Ads:e ¢H a2 Na
10,000,000& * 2& 20,000
OGFAE AHUNZ & rA ZEHMH
50,000,000 * 14l 50,000
OJIEEdE ME(AMR2) 70,000,000& * 1Al 70,000
OUE Al E=Al OI0IXI &2
50,000,000& = 14l 50,000
02 232gHl 57,417 55,329 2,088
OAJEOIAH AIEZ
85,0003 = 30JHOHA = 128 30,600
ONLE(Z & B A EYl) SXIH 400,0008 * 63 2,400
O E22LIH X224
300,000& = 123 3,600
OY&sEH Sl 11,897
—s&J|J] 140,000& * 204 280
— JtOlct 50,000& * 5CH 250
YSAE S 148,000& * 604 888
—HICI23t0 et (&)
25,240,000 * 2CH = 3/100 1,515
— HICI23t0 2k (Th)
130,000,000& = 2CH = 3/100 7,800




2N

s=27/84
M FQAM AN P (UUDDHT/AUHET)
oot ANRESD EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— CXE JtHiet 2,990,000 * 2CH = 3/100 180
— 398 Sl 5,800,000& = 3/100 174
—HIUQLEZHME 27,000,000% = 3/100 810
OAN&EH 82 1,000,000& * 14l 1,000
OANEEE YSANAH FJHAES
55,000& = 12CH = 123 7,920
203 YR =&l 7,500 5,000 2,500
03 Al R =X QI Q=TI 7,500 5,000 2,500
OF2NH 22 427y
7,500,000& * 14 7,500
307 gl2tol & 40,000 30,000 10,000
02 QIZtFAE XS 40,000 30,000 10,000
OYFFILEAYSZXNRA(ZXS 30%)
40,000,000& * 14! 40,000
405 XHobF S HI 65,000 49,700 15,300
01 AL ESFH S 65,000 49,700 15,300
OANZBEE ZSAAE 2= 60,000
—2U8 TV 3,000,000& = 1204 36,000
s == 2,000,000& = 1204 24,000
OZsZH P¢ 5,000,000& * 14! 5,000
HESIA (LB SIHE/UBEA) 2,284,824 1,953,204 331,620
= 15,515
< 50,544
Al 2,218,765
HY ZB3 F&H 1,822,327 1,668,223 154,104
= 10,235
< 25,000
Al 1,787,092
HY ML 2e| |X 922,428 821,571 100,857
201 Let2 Y| 819,465 715,342 104,123
01 At 22l 24,000 26,000 A 2,000
OO0l A olgZ=2 088 44 2
23,000,000& * 14 23,000
OHZFZEANAH SERAES IS
1,000,000& * 14l 1,000
02 2324l 795,465 689, 342 106, 123
OQHY HE3H AEE 231,000
—2FH(A2L:5M) 1,500,000& * 128 18,000
—AEE A2 (2 2M)
1,100,000& * 128 13,200
— )2, Al A, SHS(MSPPY)
450,000% = 373l& * 128 199,800
oL AEZ 5,400




2N
X ZH -
L= B
el

EEBIEN
HESAY (LB BRI /L)
#® Yo 23

A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
—REos ZRAAL JHAMBE
30,000& = 13l& = 12& 360
—HEE=E AR AEHUWARE
30,000& = 13l& = 123 360
—OtXs Ead Ol d QHYAIER
30,000& = 13l& = 123 360
—UFA CRABEME QHUASE
30,000& = 13l& = 123 360
— AN SEUSH AHUMES
30,000& = 1314 = 12& 360
—ASNE WEA QHUAEE
30,000& = 18l& * 128 = 204 720
— HHIE oA CIHYAMESZ
30,000& = 13l& = 123 360
— S4A OHLA CIHYIAMES
30,000& = 13l& = 12& 360
~SH0IS 2L AHUARE
30,000& = 18l& * 128 = 204 720
~NEEHZ YA AHUASE
30,000& = 13l& = 12& 360
— 230 E3%t*A AHAAES
30,000& = 13l& = 123 360
_O}Xlg &E-”jIDHB|IF O|E-||—‘||A|»
30,000& = I/S' * 128 360
—BZF0ISY OOIA EUAER
30,000& = 13l& = 12& 360
OXNGSHBHH(FUHBOIEANE)IH AES
100,000& = 12&8 » 1704 20,400
OodgZ¥EZLel0l SMS AE = (UMS)
25% * 40,0001 = 12& 12,000
OALOIHAIRl SMS 8& =2
25% * 100,000 * 43| 10,000
O2AHelS AL (LAN) X
500,000& » 5014 2,500
ooy Zolg Ji2ed & Il 4,586
—d=2E0e 30,000& = 81A 2,430
— 20 66,0003 » 262 1,716
—S0e S=H 220,000& = 2A 440
OddE ME=Z 170,000& * 128 2,040
OANEEZE EEHZIAMUA 38 MEZ
30,000& = 504 = 12& 1,800
OANMEEHIFXH (AAE SERIES) 505,739
—GtERAN |24 246,773
HI 2 MAIAE
191,800,000& * 7/100 * 1.1 14,769
-EXEE, TAHEEE SE MY
188,159,000& * 7/100 1.1 14,489




2N BE
Bu: oy AL DD /)
ool =z (B9 ®R)
SN EB S (3H) - NBAY - B2 ol &k o8 ﬁlf& HD=2
cEX22 BEAAE(KLIS) APAH
109,273,000 = 7/100 = 1. 8,415
- HIAH A H 5,500,000 = 7/100 * 1. 424
cEHOXNS S8 &AMH
210,087,000& = 7/100 * 1. 16,177
AIStEAAE!
16,400,000& * 7/100 = 1. 1,263
- DNS 22l A H
18,300,000 * 7/100 = 1. 1,410
- SHAE M 2| 0] Al AE (UMS)
28,300,000 = 7/100 = 1. 2,180
- JATIE /AT 2R AAE(DR)
205,930,000 = 7/100 * 1. 15,857
- Qo SIECAIZKEH|
111,682,000 = 7/100 = 1. 8,600
SRS S WAL
57,232,700 * 7/100 *1. 4,407
CHENY 28 AE2X
250,000,000 = 7/100 * 1. 19,250
CHENY HAMKE NS R
274,275,000 = 7/100 * 1. 21,120
CEHuwAAY B4
132,660,000 = 7/100 * 1. 10,215
-HAAXNSE 0l=3H Sy &bl
136,000,000& = 7/100 = 1. 10,472
-HERK3 &
671,630,000 = 7/100 * 1. 51,716
- NS P A SIHEE
30,250,920 = 7/100 = 1. 2,330
-EHAMEY ASFHAH (SHSVPN)
71,500,000 = 7/100 * 1. 5,506
-HMAMBO ASSHEH (2 AVPN)
63,818,000 = 7/100 * 1. 4,914
AP M= (L4)
70,410,000 = 7/100 * 1. 5,422
- 2HMAERAZSEIIUPS(30K, 50K)
56,268,000 = 7/100 * 1. 4,333
CNAMA HAEIIA S ASHD]
17,348,000 = 7/100 = 1. 1,336
CHAA B2EE)
56,665,450 * 7/100 * 1. 4,364
- MAHAL CCTV AIAE
18,273,000 * 7/100 = 1. 1,408
%/C\J'§|_O_l}\|AE1I
64,132,0002 = 7/100 * 1. 4,939
CMEBTAXCAHIA BA L
28,181,000 = 7/100 = 1. 2,170
SS M BHAAAE
120,600,000 = 7/100 = 1. 9,287




2N

220|24
H: FESAMY (LSS /YY)
ool #E ¥P5 =X CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—ATEQON RAZ=H 63,766
A B A2 0AlAE(UMS)
46,500,000 = 10/100 * 1. 5,115
-HAMH Z20Y
12,000,000& * 10/100 = 1. 1,320
- Al EHOIX
99,000,000& = 10/100 * 1. 10,890
- S H Ol XI DBMS
8,727,000& = 10/100 * 1. 960
SN ZN E208
130,464,8102 = 10/100 * 1. 14,352
- dXZ TH DBMS
37,750,000 * 10/100 * 1. 4,153
- EXZ2|AIAE DBMS
37,750,000& * 10/100 * 1. 4,153
-UESIZ 1P 22l S/W
26,655,000& * 10/100 1. 2,933
- EStEAAE S/W
29,000,000 * 10/100 * 1. 3,190
- CHUZTOAIAE
16,000,000& = 10/100 * 1. 1,760
ANLoa SSEZAAH
2,800,000& = 1. 3,080
- 2t LA E EHO0IXK FAE
107,809,700& * 10/100 * 1. 11,860
— BotEHl |RAE 4| 195,200
-UHESRID HHOIHAATIEHAIAEY
48,000,000 = 10/100 * 1. 5,280
E R 80,091,000& = 10/100 * 1. 8,811
HHHPY Yo
103,507,000 * 10/100 * 1. 11,386
BB e
27,000,000& * 10/100 *1. 2,970
- 2RY HUYTAAHIPS
35,775,000& * 10/100 * 1. 3,936
-UESRIT E2 0 AIAENAC
99,300,000 * 10/100 * 1. 10,923
- CIOIE HI Ol A2 QA A EL
101,045,000 * 10/100 * 1. 11,115
SERIIAONM (USB) ZHAIA &
55,800,000 * 10/100 * 1. 6,138
- X, Rrab2e| AlAEH(PCE o)
46,400,000 = 10/100 * 1. 5,104
-SYHAZTEYN MHAAE
39,000,000 * 10/100 * 1. 4,290
2 E XAl A E
15,700,000& * 10/100 * 1. 1,727
- EHOIX & STHAMH 2ot
27,000,000 * 10/100 = 1. 2,970




2N BRI
M JESANG (L SSHEY /YY)
Sl ¥E HEE =X CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
HEIRY ALY
72,994,000& * 10/100 * 1.1 8,030
-2y FYXEAIAE
33,000,000 = 10/100 * 1.1 3,630
- NESSERAAE
70,548,000& * 10/100 * 1.1 7,761
Z N EoAIAE
89,500,000& = 10/100 * 1.1 9,845
- SEE o2 AIAE (H/W)
146,973,000& = 7/100 * 1.1 11,317
- SEE oM AIAE(S/W)
165,700,000& * 10/100 * 1.1 18,227
- SEEo2HI Al A & (DBMS)
50,000,000 = 10/100 * 1.1 5,500
- AHOIBH E oHCH S Al A
234,250,000& * 10/100 * 1.1 25,768
- /=9 DD0S B2 XHEHAIAE
49,500,000 * 10/100 * 1.1 5,445
TS 000S BH XESAIAH
48,000,000& * 10/100 * 1.1 5,280
- Y SAHE LB (AIOIE) RESHAIAE
42,909,090 * 10/100 » 1.1 4,720
CEHOIX BHAE 24 ALY
52,600,700 * 8/100 * 1.1 4,629
- EHOIX CIOIEHOIASSSAIAE
36,000,000& * 8/100 = 8/12 = 1.1 2,112
- DHILEHOIX IIEE ZtAIAE
24,000,000& = 8/100 = 4/12 = 1.1 704
iR BS AAE
68,918,182 = 10/100 * 1.1 7,582
403 XAXISH M S X201 A 102,963 106,229 A 3,266
02 SJ12S0ll CH &HCH & AF 2 HI 102,963 106,229 AN 3,266
OXNXIEH SSIIg MeEH | 2el
1,077,458,450& = 7/100 75,423
OXNETHH 2AANAE (e-S X)X 2]
20,518,000& * 14l 20,518
OANZ+ MoilS2AIAE SX2a
7,022,000& * 14 7,022
HArEH B3 319,750 764,200 AN 444,450
201 £B-2%| 31,200 31,200 0
01 At 22l 31,200 31,200 0
OYRELTEYH 2L 31,200
— 8= 100,000& = 40user 4,000
—MS 21U & 250,000& = 40user 10,000
—gEX 30,000& = 100user 3,000
— TEY 1,100,000& = 5user 5,500




2N
X ZH -
L= B

el

- _ _ RE]
CE . HY(BH) - HBAY - BES %Ei HR=2
—QEIHE 1,500,000& = 5user 7,500
—QLEIHE AEAIEHA 14
240,000& * buser 1,200
405 XH&HF S HI 288,550 633,000 A 344,450
01 XAt 2 FF S| 288,550 633,000 A 344,450
QoY ROIXCH(2ate) WA
25,000,000 * 24! 50,000
OWEHAE ZAGETAlAE(IPS) A
50,000,000& * 14 50,000
OADIE 8& A NHIA =) 2
610,000 = 5CH 3,050
OgRE MAEH 2¢ 185,500
—dA3as 1,000,000 = 100CH 100,000
— 2L H 450,000 = 100CH 45,000
—LEE= 2,000,000& = 604 12,000
—SHS UJAYZE T EH
1,500,000 = 1904 28,500
NANPS S Y 15,595 14,595 1,000
201 LBt 9| 13,595 13,595 0
01 AP 22| d| 13,595 13,595 0
OZ2LAHEHEEsE XU 1,005
— FZAZE2M S 45,0008 = 5lsS * 13 225
—ANE2ZESSE
15,000 = 2A|2F = 6 * 13 180
—MEx< 20,000 * 5t= * 13| 100
— a3 &EA 20 100,000 = 50H& = 13 500
OXNSAAXMB3 WM
10,000& * 185 = 23& 4,140
OZAE3 s L2AI=
30,000 = 10Al2F = 18D] 5,400
OuUsE AR 34| 100,000& = 10& 1,000
OFESNEE A2 =4&H| 2,050
— T2l &l 200,000& * 13| * 2CH 400
—ZEH %2l 50,000& = 2304 1,150
— YO NME £ 500,000 = 1CH 500
303 ZAZ2 2,000 1,000 1,000
01 A2 2,000 1,000 1,000
O3FRATEHEEsY JAU &3
2,000,000& = 14! 2,000
NLHAYZSEFZAASIE(2) 42,554 67,857 A~ 25,303
= 10,235
Al 32,319
et AH| 42 554 67,857 N 25,303
= 10,235




2N
X ZH -
L= B

el

ESIEN
BOAY (LS BIYT /L)
3 m9s =

= - — SHE|
S BB (S) - MRAY - BES e Hl D= 2t
Al 32,319
01 At 22l 42,554 67,857 A 25,303
ONZFRHIZIZANAE S SEH wH ALY
24,840,0008 * 14 24,840
2 6.210
Al 18,630
OANZR2THAHERAIAE RS AL
17,714,0008 * 14 17,714
2 4,025
Al 13,689
SUCAA2E2H(Z) 522,000 0 522,000
< 25,000
Al 497,000
405 TtobH S 522,000 0 522,000
= 25,000
Al 497,000
01 AL EFFHSHI 522,000 0 522,000
O2UeHgRA)AIAE 25
522,000,000 * 14 522,000
= 25,000
Al 497,000
AEHES =& 462,497 284,981 177,516
= 5,280
= 25,544
Al 431,673
SHOIX 2& 318,650 146,084 172,566
201 L2l 38,650 46,084 NT,434
01 At 22l 30,000 30,000 0
OEMHOIXl PCEtZZ )M
10,000,000& * 14l 10,000
OSHOIXIAHAIE BE2A HEEZZ )
20,000,000& * 14l 20,000
02 =224l 8,650 16,084 AT,434
OSHOIX 2H & oH2clAoE ME=
1,000,000& * 14l 1,000
OZHIZ EHOIX 228 ADEIDI MES
70,0003 = 128 = 14 840
OZMHOIXl &Hels AAE& 60,0008 * 12 720
OZHOIXl JIs=It 400,000& = 103l 4,000
OEHOIX JHOANERCHAIAE SXES
18,997,000& = 10/100 * 1.1 2,090
207 74 2l 155,000 70,000 85,000
02 & AR b 155,000 70,000 85,000
OSNS 28l = gy & 299
25,000,000 * 14 25,000




2N BRI
M JESANG (L SSHEY /YY)
ool NHFEE =T CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O&FR3.0 #& SHOIX &#HIHH
100,000,000 * 14 100,000
OZHOIX BAMH HAEESSXHAIAH
30,000,000& * 14l 30,000
405 RHoHE S HI 125,000 30,000 95,000
01 XL 2 FF S| 125,000 30,000 95,000
OZHOIXl £t DNSE Z Al AE
25,000,000& * 1CH 25,000
OZHOIX AEL2X EF¥SH
50,000,000& * 14l 50,000
OSHOIX && X ¥ XEHAAH
50,000,000& * 14l 50,000
AMIEESH AHY F2& 22,635 15,005 7,630
201 LB-2dH| 13,955 13,955 0
01 At 2t 2l 13,955 13,955 0
OANIEES WU
10,000& » 12& * 23&A 2,760
OAMEIEEs s 2A=E
30,000& = 20Al2t = 127] 7,200
OFLUFZB0EANE s W
10,0002 * 2& * 1702 340
OFLUFEB0EANE A2 =4l 3,655
—ZgH EH 100,000& * 13| = 1744 1,700
—Jl2 AARE3Hl 5,000& * 38 * 172 255
—ZFH =2 100,000& = 17002 = 50% 850
— ZEH =2 100,000 * 17JH 4 = 50% 850
301 L2 A= 1,200 1,050 150
09 HALAHIE& S 1,200 1,050 150
O I3 80ig =/ 4 oft)
80,000& = 10Y¥ * 1 = 13 800
OZESMAE d=0Ha A 0l
80,000& = 5% = 1 » 13l 400
308 XXIEH SO0 A 7,480 0 7,480
05 XX SHM2ARES 7,480 0 7,480
OSHQE 0I8AX dHa ALY
7,480,000& = 14 7,480
L8308 T2 22 X(=2) 33,432 33,432 0
= 5,280
< 6,644
Al 21,508
307 glz2tol & 33,432 33,432 0
= 5,280
< 6,644
Al 21,508




2N BRI
H: FESAMY (LSS /YY)
ool NHFEE =T CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 2B AEXS 33,432 33,432 0
O&Es0lE Z20d 2|k 23
18,573,330& * 2% * 90/100 33,432
= 5,280
< 6,644
Al 21,508
FE0IsAE XN (%) 63,480 63,700 A 220
< 18,900
Al 44,580
101 1244 dl 63,000 63,000 0
= 18,900
Al 44,100
4 JI2ZHHZ2XEES 63,000 63,000 0
OXNAEEZ a2 A XI A 63,000
— o= 41,6803 = 6% = 173 43,264
< 18,900
Al 24,364
—F=x==¢ 41,6803 = 6% * 342 8,503
— RS 41,680% * 6% = 8L 2,001
—us, Al 3,000& * 69H * 173 3,114
— 40 2= 113,290& * 6H » 93 6,118
301 et d=s 480 700 A 220
09 SAAHIEAS 480 700 A 220
OXNSEES AN &L u=x0Hl
80,000& * 6% 480
F2snsedg 24,300 24,260 40
201 2Bt | 10,900 12,160 A1,260
01 At 22/l 2,000 6,000 A 4,000
OX¥Estlie EE2S8(BEY S) M
1,000,000& * 14 = 204 A& 2,000
02 =24l 8,900 6,160 2,740
OZE0E SHOIX R
35,000,000& = 10/100 = 20HA = 1.1 7,700
OZFEs0e F2dH dMEH | E=H
600,000& » 20H 2 1,200
301 LA F 10,400 9,100 1,300
09 EHALAHIZ &S 10,400 9,100 1,300
OZFEs0s 2E9d s &It
80,000& = 5% * 53 » 204 4,000
OZE&0E F2UAE L=
80,000& = 10F * 23] » 204 3,200
O&Es0tS HAE &It
80,0003 * 10 * 2& * 204 3,200
307 21201 A 3,000 3,000 0




2N

LB
M YESAY(LNBTHT/LNHT)
ool NHFEE =T CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 2B AEXS 3,000 3,000 0
OZZS0IS HAE IHI(BEE 90%)
1,500,000& = 20H A 3,000
Sezel (LI /LB A) 391,755 427,955 /36,200
stlae 391,755 427,955 A 36,200
s 42t 391,755 427,955 A 36,200
201 £B-2%H| 312,155 307,155 5,000
01 At 22l 22,160 22,160 0
OdF MBS HE M= 1,000& = 1,500% 1,500
OMETZAL E8HEHS AEIH HME
500,000& * 12 500
OSHS AEA AIRA 2XEF0 GE ol
& Xl 300,000& * 2000 A 6,000
OFUHSAHRE FH(AAME, sIIs4H,
=80 F4H) 500,000 * 4042 2,000
OIPRED| OEIHE 2L (IASMIIE 21)
5,000,000& =+ 20H 10,000
OMAESI EH 2
45,0003 = 404 = 123 2,160
02 2324l 289,995 284,995 5,000
Odz=ael Motz 10,000,000& * 12& 120,000
o= Mtz 500,000& = 12& 6,000
OAUWEE2H AIES
25,000& = 1003l& = 12& 30,000
OANLHdEE MEZ 5,000,000& = 12& 60,000
OFUds AEZE 100,000& » 6CH = 12& 7,200
OEIJtY M3 (LB #HAIE) 1,400
RS = 8,000& * 50CH 400
—HIIAE etz 20,000& * 50CH 1,000
oulgts B2Y 36,720
—ZDESHNY(NH-EH)
3,000,000& * 12& 36,000
—=UHEEZ 60,000& = 12& 720
OXtsA Hatuweg X FAE==Hl
645,978,000& * 1/100 6,460
OJIEF=FX & =8I RAE=H
56,420,000& * 5/100 2,821
Od=tll |FXNE=H
40,0002 * 400CH * 5/100 800
OEBAMAESI 7XE |
1,300,000& * 4CH = 5/100 260
Osgds &3t RALE =l
14,000,000& * 5/100 700
Od=stsEs X |RAE=4l
14,000,000& * 5/100 700




A 220184
HE: SR (AUBIYE /A HT)
ol SABE crela )
SN BA(SA) - MRAY - BES il HImEET
OF=CYY HatY RA24H|
12,680,000& * 5/100 634
OAMNESHEZAEH wEH| 700,000& = 4CH 2,800
OoOFUEz |FANE+ 5,500,000& * 14! 5,500
Osda Z&EHH |FXNE*
3,000,000& * 14l 3,000
O=E8 S3¢E8 3z
2,500,000& * 23] 5,000
308 XX EHSOIA 19,600 16,800 2,800
05 HXHMAURE = 19,600 16,800 2,800
Os0E Z2UHILYNY 2=
19,600,000 * 14l 19,600
405 XH&HF S HI 60,000 104,000 A 44,000
01 AL EZFH S 60,000 104,000 A 44,000
OIPM3I 7 500,000& = 50CH 25,000
OCIp&E =] 7 40,000& = 100CH 4,000
OJIZd3sI 7¢ 500,000& * 2CH 1,000
OASHTAIEH 2 30,000,000 * 14 30,000
HE2HZHI(EEZIIE4)(IIEH/DIIE 108,910 149,006 A 40,096
Jl2Z3l 108,910 116,966 A 8,056
JlE2&tl 108,910 116,966 A 8,056
201 et 23,510 26,646 A 3,136
01 At 22l 23,510 26,646 A 3,136
O=AEX ¢ 13,0002 » 208fA * 12 3,120
OS20AH| 6,000& = 64l » 209 » 123 8,640
Oggtx=x=g 100,000& * 122 1,200
OL72 &SI 50,000& = 12& 600
Oar 2 =44| 8,750
— 2A =2l 500,000& = 1CH 500
— e 100,000 * 5CH * 50/100 250
— = A 200,000& = 53| = 1CH 1,000
— ZTeH 84) 200,000% = 53| = 504 5,000
— Z2lE EU(Zeh) 200,000& * 53 * 1CH 1,000
—PC =2l 100,000& = 20CH * 20/100 400
— JIEt =2l 50,000& = 123 600
OJIEL AR 22|l 5,000& * 20H = 12& 1,200
202 o4dl 80,000 84,920 A 4,920
01 = LH o4 1l 80,000 84,920 A 4,920
Oos=2J18d & ol 80,000
— 2o Yl 20,0003 209 ~ 12& = 128 57,600
— 22 0 Hl 80,000& * 20Y » 14« 22,400
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